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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870485
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087014194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087056281. 1
71087056282. 2
71087056283. 3
71087056284. 4

Question Number : 1 Question Id : 71087014194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087056281. 1
71087056282. 2
71087056283. 3
71087056284. 4

Question Number : 2 Question Id : 71087014195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3.B and Conly
4. D and E only



Options :

71087056285. 1
71087056286. 2
71087056287. 3
71087056288. 4

Question Number : 2 Question Id : 71087014195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087056285. 1
71087056286. 2
71087056287. 3
71087056288. 4

Question Number : 3 Question Id : 71087014196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. B, D and E only
Options :
71087056289. 1
71087056290. 2
71087056291. 3
71087056292. 4

Question Number : 3 Question Id : 71087014196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. Bad A, D IARE
4, H9dB, D 3ARE
Options :
71087056289. 1
71087056290. 2
71087056291. 3
71087056292. 4

Question Number : 4 Question Id : 71087014197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4.C, D and E only
Options :
71087056293. 1
71087056294. 2
71087056295. 3
71087056296. 4

Question Number : 4 Question Id : 71087014197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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FrafaRad Geedl § 9 U8l ST &1 9g &1 :

1. HaAA, C3RD
2. BAAA, B IAR C
3. ®aAB, C3RD
4.HaAC, D ARE
Options :
71087056293 1
71087056294. 2
71087056295. 3
71087056296. 4

Question Number : 5 Question Id : 71087014198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Methods of estimating the reliability of a|Description
test

l. Administering the test in one session with

A, Test-retest method : ]
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method .
independently

, lll. Administering the same test to the same
C. Split-half method , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-IVB-IL,C-I1L,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087056297. 1
71087056298. 2
71087056299. 3
71087056300. 4

Question Number : 5 Question Id : 71087014198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087056297. 1
71087056298. 2
71087056299. 3
71087056300. 4

Question Number : 6 Question Id : 71087014199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087056301. 1
71087056302. 2
71087056303. 3
71087056304. 4

Question Number : 6 Question Id : 71087014199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087056301. 1
71087056302. 2
71087056303. 3
71087056304. 4

Question Number : 7 Question Id : 71087014200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087056305. 1

71087056306. 2

71087056307. 3

71087056308. 4

Question Number : 7 Question Id : 71087014200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056305. 1
71087056306. 2
71087056307. 3
71087056308. 4

Question Number : 8 Question Id : 71087014201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. A B and E only
Options :
71087056309. 1
71087056310. 2
71087056311. 3
71087056312. 4

Question Number : 8 Question Id : 71087014201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. Pad B, C 3R D
3. Bad A, D IARE
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Options :
71087056309. 1
71087056310. 2
71087056311. 3
71087056312. 4

Question Number : 9 Question Id : 71087014202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling . The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

C Di . I i lll. The k-interval is obtained by N/n and the units
. Dimensional samplin , ) _
Ping are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling V. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087056313. 1
71087056314. 2
71087056315. 3
71087056316. 4

Question Number : 9 Question Id : 71087014202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087056313. 1
71087056314. 2
71087056315. 3
71087056316. 4

Question Number : 10 Question Id : 71087014203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087056317. 1

71087056318. 2

71087056319. 3

71087056320. 4

Question Number : 10 Question Id : 71087014203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056317. 1

71087056318. 2

71087056319. 3

71087056320. 4

Sub-Section Number : 2
Sub-Section Id : 710870486
Question Shuffling Allowed : Yes

Question Id : 71087014204 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a socially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing good. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 71087014205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087056321. 1

71087056322. 2

71087056323. 3

71087056324. 4

Question Number : 12 Question Id : 71087014206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087056325. 1

71087056326. 2

71087056327. 3

71087056328. 4

Question Number : 13 Question Id : 71087014207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087056329. 1

71087056330. 2

71087056331. 3

71087056332. 4

Question Number : 14 Question Id : 71087014208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087056333. 1

71087056334. 2

71087056335. 3

71087056336. 4

Question Number : 15 Question Id : 71087014209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087056337. 1
71087056338. 2
71087056339. 3
71087056340. 4

Question Id : 71087014204 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087014205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056321. 1

71087056322. 2

71087056323. 3

71087056324. 4

Question Number : 12 Question Id : 71087014206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056325. 1
71087056326. 2
71087056327. 3
71087056328. 4

Question Number : 13 Question Id : 71087014207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056329. 1
71087056330. 2
71087056331. 3
71087056332. 4

Question Number : 14 Question Id : 71087014208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056333. 1

71087056334. 2

71087056335. 3

71087056336. 4

Question Number : 15 Question Id : 71087014209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087056337. 1
71087056338. 2
71087056339. 3
71087056340. 4

Sub-Section Number : 3
Sub-Section Id : 710870487
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087014210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087056341. 1
71087056342. 2
71087056343. 3
71087056344. 4

Question Number : 16 Question Id : 71087014210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056341. 1
71087056342. 2
71087056343, 3
71087056344, 4

Question Number : 17 Question Id : 71087014211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and F only
4.D,Eand F only
Options :
71087056345. 1
71087056346. 2
71087056347. 3
71087056348. 4

Question Number : 17 Question Id : 71087014211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



faRad Iuwu ®f gHIfaar 39 W STeRd § -
A. 9gd TieT U Ih

8. Udiel ared fg=are

C. fera-t & 9T Hure

D. Tl H geHal

. B3 Weal BT TINT

F. Teal 1 WHIAT TNT

el fadey & 909 &1 -

1. Bad A, B 3R C
2. Pad B, C 3R D
3. PHaAC, D 3R F
4, HAAD, EARF
Options :
71087056345. 1
71087056346. 2
71087056347. 3
71087056348. 4

Question Number : 18 Question Id : 71087014212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087056349. 1

71087056350. 2

71087056351. 3

71087056352 4

Question Number : 18 Question Id : 71087014212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HTHGYA (A) : T8 AUF B oFHGR] & [ g8 [T At de-id @ Geradl § faenfiaf
@I Gfehd a1 a1e

dd (R) : SEUD - dhigd SUYU faentdaf &i Fitnd sidr a1 g g
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087056349. 1

71087056350. 2

71087056351. 3

71087056352. 4

Question Number : 19 Question Id : 71087014213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group lll. Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087056353. 1
71087056354. 2
71087056355. 3
71087056356. 4

Question Number : 19 Question Id : 71087014213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i1 Dl Tall-1l Y AT Bife ;

gal-| gl-1l

U0 BT ThR fa=Ivan

A, 3 Jafdas |, Sfaadl & 99

B. 3R agfdad 1. 7Y T3 & |1

C. 998 11, ST Yidrei &1 921 g
D. SiF-HHeH V. %ad |

g f[aeul § § 9al ST &1 90 31 :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
71087056353. 1
71087056354. 2
71087056355. 3
71087056356. 4

Question Number : 20 Question Id : 71087014214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement |I: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087056357. 1

71087056358. 2

71087056359. 3

71087056360. 4

Question Number : 20 Question Id : 71087014214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EICKA SN A

HYA-1 : DEFTA Ul H safdicd e UHId! Sia:fhar & e 919 ¢

HUA-1I : HATaD GUY BT TRAR & UT: JaTad Sa1EH JHT 91l 6|
SE B! & D | FEifed el & ¥ ol Suged S g

1. @Y | 3R 1| GHf T8l 2l

2. YT | 3R 11 GFf T8l el 8l

3. BYH-1 9e1 g, fbg dYH-11 981 181 |
4. DY-| Tl T8I 8, oo Do-11 Wel &
Options :

71087056357. 1

71087056358. 2

71087056359. 3

71087056360. 4

Question Number : 21 Question Id : 71087014215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1. 12

2. 24

3. 36

4.48

Options :
71087056361. 1
71087056362. 2
71087056363. 3



71087056364. 4

Question Number : 21 Question Id : 71087014215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e 7 Teae € et ) uec T gudl O @ gl & oYl de e @i el 81 afg et
TEH13HT D1 3HTEd 56 B dl UGl 3R IRl H@A1 B 3R I -

1.12

2. 24

3.36

4. 48

Options :
71087056361. 1
71087056362. 2
71087056363. 3
71087056364. 4

Question Number : 22 Question Id : 71087014216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
2,10, 26, 50,

1. 78

294

3.82

4.104
Options :
71087056365. 1
71087056366. 2
71087056367. 3



71087056368. 4

Question Number : 22 Question Id : 71087014216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2,10, 26,50 ___ B 4@ H 3FTd 3Hep BT (e &1 -

1. 78

294

3.82

4.104
Options :
71087056365. 1
71087056366. 2
71087056367. 3
71087056368. 4

Question Number : 23 Question Id : 71087014217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
490 km/hour
Options :

71087056369. 1
71087056370. 2
71087056371. 3
71087056372. 4



Question Number : 23 Question Id : 71087014217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& H 911 5T U@ ATGH! F1feq a1 ¢ [ a8 TP e o 31 SoieH & 9l & T @i o1 ofe
EH 50 Hiex St Fafd gt W ol dl ¢ & Wis | il 2

1. 50 Tt / Wfcder
2. 60 T A1, / Ufcden
3. 80 f A1, / ufeden
4, 90 T #1. ; ufada
Options :
71087056369. 1
71087056370. 2
71087056371. 3
71087056372. 4

Question Number : 24 Question Id : 71087014218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
year?

1. 5125

2. 5250

3. 5500
45150
Options :
71087056373. 1
71087056374. 2
71087056375. 3



71087056376. 4

Question Number : 24 Question Id : 71087014218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- B IHH dF H 1 A & 10T 10% UTday o &4s U 991 S 7741 | I8 =0T 44 giftia
YR R UR@Gd BidT & dl 1 91d & 3id H <O1e &1 IdH ol g 2

1. 5125

2. 5250

3. 5500
45150
Options :
71087056373. 1
71087056374. 2
71087056375. 3
71087056376. 4

Question Number : 25 Question Id : 71087014219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?

abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. defj
Options :
71087056377. 1
71087056378. 2



71087056379. 3
71087056380. 4

Question Number : 25 Question Id : 71087014219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
7751 31&R1 BT e # 2T U 1 BN
abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. def]
Options :
71087056377. 1
71087056378. 2
71087056379. 3
71087056380. 4

Question Number : 26 Question Id : 71087014220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

D. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087056381. 1
71087056382. 2
71087056383. 3
71087056384. 4

Question Number : 26 Question Id : 71087014220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T G | <01 d16d 1 pHdGdl & -
A T

B. JalgU

C.?q

D. U
E. Ui
Fofeiad Gy o T 91 3T &1 98 &1 ;

1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087056381. 1
71087056382. 2
71087056383. 3
71087056384. 4

Question Number : 27 Question Id : 71087014221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087056385.
71087056386.
71087056387.
71087056388.

AW O~

Question Number : 27 Question Id : 71087014221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I GRHRIRE H d1URR 91 @1 hAdGdl [y -
A, STDIET

B. ARG

C. ard

D. Gy

i U 7Y fgoeul # € U5l IR &1 989 DY

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087056385.
71087056386.
71087056387.
71087056388.

AW O~

Question Number : 28 Question Id : 71087014222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘To infer rain in the past by perceiving muddy water in the pond’, is

1. PGrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087056389. 1



71087056390. 2
71087056391. 3
71087056392 4

Question Number : 28 Question Id : 71087014222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dIeiE o $idsygad Ul & Ud § SR 814 &1 Fwhy Ade- & -

1. 94 SFHH
2. R9ad HTHH
3.1 3R 2 gHf
4. il
Options :
71087056389. 1
71087056390. 2
71087056391. 3
71087056392. 4

Question Number : 29 Question Id : 71087014223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (hetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087056393. 1



71087056394. 2
71087056395. 3
71087056396. 4

Question Number : 29 Question Id : 71087014223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ed BRI 1 & "ed o BRU [y FdeH $f f6Y UHR &1 eayy $el oldl & ?

1. JAHAR
2. faes
3. gaufdus
4, &g

Options :

71087056393. 1
71087056394. 2
71087056395. 3
71087056396. 4

Question Number : 30 Question Id : 71087014224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A, All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087056397. 1
71087056398. 2
71087056399. 3
71087056400. 4

Question Number : 30 Question Id : 71087014224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d or ufagfral & Wi 8, 39 9 ol U8 HEfid § & 3 9 T8l 81 9dd sIait d ad &l 9dd
&, 571 &l ufaafual & @ &1 98- ®e

A Tt FAfed SHMER §

. B3 Wi safekd SAMGR el gl

C. TS ofad SHFGR &

D. $% aAfdd SHMGR el aid

i f&u U faeedl # @ Uel I &1 98- B -

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087056397. 1
71087056398. 2
71087056399. 3
71087056400. 4

Sub-Section Number : 4
Sub-Section Id : 710870488
Question Shuffling Allowed : Yes

Question Id : 71087014225 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 285 98 3 23.4 83
2076 347 112 2.52 32.5 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 494 93

Sub questions

Question Number : 31 Question Id : 71087014226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087056401. 1
71087056402. 2
71087056403. 3
71087056404. 4



Question Number : 32 Question Id : 71087014227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4, -1%
Options :
71087056405. 1
71087056406. 2
71087056407. 3
71087056408. 4

Question Number : 33 Question Id : 71087014228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %
2.58 %
3.91%

4.73 %
Options :
71087056409. 1
71087056410. 2
71087056411. 3
71087056412. 4



Question Number : 34 Question Id : 71087014229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 524.44

3. 544.44

4. 591.41
Options :
71087056413. 1
71087056414. 2
71087056415. 3
71087056416. 4

Question Number : 35 Question Id : 71087014230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

1. 17:11
2.27:22
3.31:27

4, 19:17
Options :
71087056417. 1
71087056418. 2
71087056419. 3
71087056420. 4

Question Id : 71087014225 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (31 to 35)
Question Label : Comprehension

= 3t 7S IR FT sEEET By iR fSA T aul & Tw & at (@ Ul 7) &7 uiaad
FHURRUN IS :

o0 o Y (@rat 1)
aﬁ 0 .
HHAMG BT | gfaed a9 U R Y G
dod
2015 288 = ta] 3.00 23.4 83
2016 342 112 2.52 325 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 364 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 71087014226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=yT &l ufaay ofied fad=1 =T gl USdl 6 ?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087056401. 1
71087056402. 2
71087056403. 3
71087056404. 4

Question Number : 32 Question Id : 71087014227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfearad afd o T 5 9199 31 S o U3 YeH 31 ¢ 98 94 3@y ¥ Ued &d dad &1 A
BT ATHIT [T UfRd 8 2

1. -3 %
2 -4 %
3. -7 %
4. -1%
Options :
71087056405. 1
71087056406. 2
71087056407. 3
71087056408. 4

Question Number : 33 Question Id : 71087014228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 3 9 Hal UR 001 41 §dd o6 2019 & ol Adl &I TTH fdha-1 Hiard o ?

1. 84.63%

2. 58%

3.91%

4. 73%
Options :
71087056409. 1
71087056410. 2
71087056411. 3
71087056412. 4

Question Number : 34 Question Id : 71087014229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2017 AT B HAAGH FA T © -

1. 624.6
2.524.44

3. 544.44

4. 591.41
Options :
71087056413. 1
71087056414. 2
71087056415. 3
71087056416. 4

Question Number : 35 Question Id : 71087014230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ay 2016 2R 2018 H @I & ¥U H {68 T 44l & o BT UId T+ fdhaHT © 2

1. 17:11
2.27:22
3.31:27

4. 19:17
Options :
71087056417. 1
71087056418. 2
71087056419. 3
71087056420. 4

Sub-Section Number : 5
Sub-Section Id : 710870489
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087014231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087056421. 1

71087056422. 2

71087056423. 3

71087056424. 4

Question Number : 36 Question Id : 71087014231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT Tt &1 gul Y (b BiH) |18 ?

1. SERATAT HIHH HH A
2. 3ee HIp g

3. 32 HHE U@

4. 3EEHe AP CHlnHIGTH
Options :

71087056421. 1

71087056422 2

71087056423. 3

71087056424. 4

Question Number : 37 Question Id : 71087014232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4. Cache
Options :
71087056425. 1
71087056426. 2
71087056427. 3
71087056428. 4

Question Number : 37 Question Id : 71087014232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



___ UH @1 U UBR & ol e Te HY JH bl YTl & -

1. AR TUH

2. S=Y U T
3. 3R I TH
4. B
Options :
71087056425. 1
71087056426. 2
71087056427. 3
71087056428. 4

Question Number : 38 Question Id : 71087014233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087056429. 1
71087056430. 2
71087056431. 3
71087056432. 4

Question Number : 38 Question Id : 71087014233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -
HUBHU (A) : HRA & A5 TaRTHdlsi &1 el duil I 96 6l ol
d® (R) : AESd 1 $IFd $H 8l 51 o

IWdd HYHT & et H Fgifdd fddel d I affie 3ugdd 3w 9 -
1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬁ?(m, (A) BT eI SRS T8l o

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

71087056429. 1

71087056430. 2

71087056431. 3
71087056432. 4

Question Number : 39 Question Id : 71087014234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2. .png
3. .doc

4..jpg
Options :
71087056433. 1
71087056434. 2
71087056435. 3
71087056436. 4

Question Number : 39 Question Id : 71087014234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

31tpY 2007 H HIFHIHIE (THUH) TS SIFgHT B BI5d [GER © -

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087056433. 1
71087056434. 2
71087056435. 3
71087056436. 4

Question Number : 40 Question Id : 71087014235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4. 1011
Options :
71087056437. 1
71087056438. 2
71087056439. 3
71087056440. 4

Question Number : 40 Question Id : 71087014235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST G019 B feeR U 1 & 7

1. 1100

2. 1001
30111
41011
Options :
71087056437. 1
71087056438. 2
71087056439. 3
71087056440. 4

Question Number : 41 Question Id : 71087014236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band Conly
4. A, Cand D only
Options :
71087056441. 1
71087056442. 2
71087056443. 3
71087056444. 4

Question Number : 41 Question Id : 71087014236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HISH URd & &R0 & HRU & -
A, IRl RIRHES giEgidle-

B. YH T UTa iel § Joe

C. 38 d%¢ @I G
D. AT oA HIAF e Bl SATEd UG
=< fGu e foTcal # € U8l SR &1 99 @9 ;

1. Had A, B3R D
2. ®ad A AR D
3. @A A, B AR C
4. HAAA, C3RD
Options :
71087056441, 1
71087056442, 2
71087056443, 3
71087056444, 4

Question Number : 42 Question Id : 71087014237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087056445. 1
71087056446. 2
71087056447. 3
71087056448. 4

Question Number : 42 Question Id : 71087014237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiaad 3 9 U o1 91 981 e & forad Geuife: Ay aedl & ded SH1YH fardl o T 2

1. RR[ e
2. JgiaRuig SH=gar

3. OHg HfUHR
4, UTYiHe T2ra

Options :

71087056445. 1
71087056446. 2
71087056447. 3
71087056448. 4

Question Number : 43 Question Id : 71087014238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087056449. 1
71087056450. 2
71087056451. 3
71087056452. 4

Question Number : 43 Question Id : 71087014238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAHH H BTE- SIS3Ha58 Iovi & Ufdadiad ool H GTGH o dld G2 & JHaig HH I
‘\q—fﬂmﬁ usalaﬁ:

A. HIRd

B. A

C. §gad Y 3R

D. SITUH

4 [9@eul § 9 981 IR @1 984 B ;

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087056449. 1
71087056450. 2
71087056451. 3
71087056452. 4

Question Number : 44 Question Id : 71087014239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087056453. 1

71087056454. 2

71087056455. 3

71087056456. 4

Question Number : 44 Question Id : 71087014239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HYDHYA (A) : GHDICA FaTaRU Tdial H a8 grEsuar Wil W oY gl3e/ular Wil ol adgd
MR

dd (R) : 93 BISSIUIGR Wil &I qo-l § T SI3SIulaR Wicl &I |1 § & Yol o idi & |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087056453. 1

71087056454. 2

71087056455. 3

71087056456. 4

Question Number : 45 Question Id : 71087014240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087056457. 1
71087056458. 2
71087056459. 3
71087056460. 4



Question Number : 45 Question Id : 71087014240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

URd H fardig &Ff & e g § g R s oM@ & -

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087056457. 1
71087056458. 2
71087056459. 3
71087056460. 4

Question Number : 46 Question Id : 71087014241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980
2.1982

3. 1984

4. 1986
Options :
71087056461. 1
71087056462. 2
71087056463. 3
71087056464. 4



Question Number : 46 Question Id : 71087014241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I SR & W ds & T H T8I @1 G401 gRI fhd I8 H eRIgy ¥ & $U H
Hifyd favar mar 2

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087056461. 1
71087056462. 2
71087056463. 3
71087056464. 4

Question Number : 47 Question Id : 71087014242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087056465. 1
71087056466. 2
71087056467. 3
71087056468. 4



Question Number : 47 Question Id : 71087014242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

APTY IR TR A (3R Y TH Q) S U iy Wifod ioHT & 3R forder 3§30 U sy
FeaeR A&t YR h! YR fad GIe0 Y Sl &, BT YHRY B fbdn 7197 o1 7

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087056465. 1
71087056466. 2
71087056467. 3
71087056468. 4

Question Number : 48 Question Id : 71087014243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087056469. 1
71087056470. 2



71087056471. 3
71087056472. 4

Question Number : 48 Question Id : 71087014243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JR & H I AMie- UM (GisHR) Iwda [RI&TH $d 39 FRUs THi$ Ued Tod a4
o U HYSRS o9 G & Uiad & &4 H Hfiedad gidl £ 1 39 Jay ¥ [Rufiad § 4 oH-
1 31 Y98 UH ATEh1RE S &I Gidl & ?

1.16-21 a4
2.17-2234
3.18-2394
4.19-24 7Y
Options :
71087056469. 1
71087056470 2
71087056471, 3
71087056472. 4

Question Number : 49 Question Id : 71087014244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087056473. 1
71087056474. 2
71087056475. 3
71087056476. 4

Question Number : 49 Question Id : 71087014244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad # ¥ ©F 1 5y JoaWRd 16T &1 Gdivs oORe &3l 6 ?

A. TE i ARG H TP UTeUshH o

5. 5 [t cafaa & el sic:fraret 8q ars siRSs Pl e axar &

c. faemif fa<iae 3o Arar-fd & sfadie- @id § 3R 3= 9 Ui oddeR diad g
D. faerdf Tg Siu-t SicR 3111 &1 Sf-uvl 3R @il Hd &

£. U Taentdal ol efuH Siia- # Su=1 =M FiEd o3 & fou uieigd oear g

i feu e famedl # ¥ Gaifte Iugad 3R &l 99 &Y -

1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087056473, 1
71087056474. 2
71087056475. 3
71087056476, 4

Question Number : 50 Question Id : 71087014245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

ICT Human

Resource Development

Initiatives of Ministry of

Their benefits for students and researchers

A, SWAYAM

. To get hands-on experience in embedded
system

B. SWAYAMPRABHA

Il. To get free books and curriculum-based e-
content

C. e-PG Pathshala

. To watch high-quality educational
programmes 24x7

0. e-Yantra

IV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4A-LB-ILC-1ILD-1V
Options :

71087056477. 1
71087056478. 2
71087056479. 3
71087056480. 4

Question Number : 50 Question Id : 71087014245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0




Tdi-| § 7.4 4. Fared &1 Hgdic! gl @l 3o ol Jai-1l # fenfiar ofR et & fom
3o Ay fer e g -

gal-| ql-1l

A TG . SRS HUTel H gl SHd U &3l
R— %%ﬁmﬂ&ﬁwﬁﬁﬁqﬂ I AR UIEashH U
cx -Ui. <f. 1. 3= T[Ura Hath Q&0 D! Bl 24 x 7
BIREI| [REE)l

D.3- 41 V. AR DY & SR hise U Sl

A feu U fasheal & ¥ 981 SR &1 98- & -

TA-NLB-IV,C-1,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087056477. 1
71087056478. 2
71087056479. 3
71087056480. 4

PART II Comparative Literature

Section Id : 710870298
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 93

Number of Questions to be attempted : 93



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870490
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087014246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to whom among the following, hypertextuality should be understood as the relation
between a Text B (hypertext) and another, anterior Text A (hypotext)?

1. Nicolas Ruwet

2. Marshall McLuhan
3. L. Kramer

4, Gerard Genette
Options :
71087056481. 1
71087056482. 2
71087056483. 3
71087056484. 4

Question Number : 51 Question Id : 71087014246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fbddh SR SMfAUISITal (Hypertextuality) @I Td U168 B (3Md9T3) 3R gL, g, UI6 A
(3UTTT8) & Sfddsy # TH o1 difeT -

1. Fdiay $de
2. H12id Aacie

3. Ucl. hHY

4. 7RIS SiHe
Options :
71087056481. 1
71087056482. 2
71087056483. 3
71087056484. 4

Question Number : 52 Question Id : 71087014247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which is the source text of Mantraankam (Kutiyattam's perfomance text)?

1. Pratijnayaugandharayana (Bhasa)

2. Ascharyacudamani (Saktibhadra)

3. Abhigyanasakuntalam (Kalidasa)

4. Devichandraguptam (Vishakha datta)
Options :

71087056485. 1

71087056486. 2

71087056487. 3

71087056488. 4

Question Number : 52 Question Id : 71087014247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HAGH (DICTTH UGRH =) &I Hd Jid DI Gl 1§ ?

1. TIOIARTRE (HTE)

2. YA STHI (@fdays)

3. AUFFRIPATH (PIfCIars)
e -

Options :

71087056485. 1
71087056486. 2
71087056487. 3
71087056488. 4

Question Number : 53 Question Id : 71087014248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The film The Hungry was adapted from which one of the following Shakespearean plays?

1. Macbeth

2. Othello

3. Titus Andronicus
4, Romeo and Juliet
Options :
71087056489. 1
71087056490. 2
71087056491. 3
71087056492. 4

Question Number : 53 Question Id : 71087014248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YW & fhd s G 2RI fhed &l TYidRul gaf ol ?

1. ey

2. AUl

3. feeq wsifAey
4. Afe U3 Sfere
Options :
71087056489. 1
71087056490. 2
71087056491. 3
71087056492. 4

Question Number : 54 Question Id : 71087014249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following produced an Urdu adaptation of Gogol 's Government Inspector ?

1. Naseer Shamshi

2. Imtiaz Ali Taj

3. Agha Babar

4, Marain Prasad Betab
Options :

71087056493. 1
71087056494, 2
71087056495. 3
71087056496. 4

Question Number : 54 Question Id : 71087014249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afeRad  © fore TR & Ta-He 38del 3¢ ©UlaUl UEd [l 6 ?
1, TR ==

2. SR St drd

3. 3T ST&R

4, AR 491G adig

Options :

71087056493. 1

71087056494, 2

71087056495. 3
71087056496. 4

Question Number : 55 Question Id : 71087014250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Michael Cunningham's The Howes draws inventively on the life and work of

1. George Eliot
2. Jane Austen

3. Virginia Woolf
4. Iris Murdoch
Options :
71087056497. 1
71087056498. 2
71087056499. 3
71087056500. 4

Question Number : 55 Question Id : 71087014250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 919 Sede

2. O i

3. afsi-a1 geb
4. AR ASld
Options :
71087056497. 1
71087056498. 2
71087056499. 3
71087056500. 4

Question Number : 56 Question Id : 71087014251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the source text for Zahida Hina's "Kumkum Theekthak Hai'

1. Rabindranath Tagore's "Nashtaneer”

2. Rabindranath Tagore's "Kabuliwala"

3. Bankimchandra Chattopadhyay's "Sakuntala, Miranda O' Desdemona”
4. Bankimchandra Chattopadhyay's "Kumkum Kahini"

Options :

71087056501. 1

71087056502. 2

71087056503. 3

71087056504. 4

Question Number : 56 Question Id : 71087014251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



difeal fe-l &1 '$HGH Sldal® & & d U1 dI Jgdl- -

1. ATy TR BT APATS

2. (gAY SR BT BIgeiidrar

3. dichHdg I UTR & Rdpdal, FRIST 3l STSEMAT
4. dicoH<ig IS U™ & DHGH dligl

Options :

71087056501. 1

71087056502. 2

71087056503. 3

71087056504. 4

Question Number : 57 Question Id : 71087014252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following composers wrote a comic opera on the Shakespearean character,
Falstaff?

1. Richard Wagner
2. Giacomo Puccini
3. Georges Bizet

4. Giuseppe Verdi
Options :
71087056505. 1
71087056506. 2
71087056507. 3
71087056508. 4

Question Number : 57 Question Id : 71087014252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afaiad 7 9 fog TiiideR A Ul U Hidwe® IR Uh Ugg- Giiifddl @ Ta-l @l ?

1. a8 aFR

>, T g
ERCICACE

4. gHY 31
Options :
71087056505. 1
71087056506. 2
71087056507. 3
71087056508. 4

Question Number : 58 Question Id : 71087014253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Friedrick Nietzsche's Thus Spake Zarathustra was interpreted in music by

1. Hermann Levi

2. Richard Strauss

3. Richard Wagner
4. Pyotr Tchaikovsky
Options :
71087056509. 1
71087056510. 2
71087056511. 3
71087056512. 4

Question Number : 58 Question Id : 71087014253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3 Tdt
2. s =
3. FEs arR

4. T 5D o501
Options :
71087056509. 1
71087056510. 2
71087056511. 3
71087056512. 4

Question Number : 59 Question Id : 71087014254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who wrote Le Thédatre Indien (The Indian Theatre) in French?

1. Maurice Winternitz

2. A. Bruguiere

3. Sylvain Lévi

4, Richard Saumarez Smith
Options :

71087056513. 1
71087056514. 2
71087056515. 3
71087056516. 4

Question Number : 59 Question Id : 71087014254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 71 fdexiet

2 TP

3. Fed wdi

4. Togs I\ [y
Options :
71087056513. 1
71087056514. 2
71087056515. 3
71087056516. 4

Question Number : 60 Question Id : 71087014255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With which one of the following are 'Attakathas’ associated?

1. Chhau

2. Kathakali

3. Odissi

4, Bratakatha
Options :
71087056517. 1
71087056518. 2
71087056519. 3
71087056520. 4

Question Number : 60 Question Id : 71087014255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g Frafiee 3 el defe & 2

1. 8%

2. YD

3. HfifSh

4, dddl
Options :
71087056517. 1
71087056518. 2
71087056519. 3
71087056520. 4

Question Number : 61 Question Id : 71087014256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the author of the book Reading Bande Dessinée: Critical Approaches to French-language
Comic Strip?

1. Ann Miller

2. Will Eisner

3. Christy Marx
4. Georges Remi
Options :
71087056521. 1
71087056522. 2
71087056523. 3
71087056524. 4

Question Number : 61 Question Id : 71087014256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



<& diE SR - hiead ok ¢ § tha-cias ®iibd REU AH® Jad I dEd HH &7

1. TF TR

2. fad 3EeR
3. fpet A
4. et 3
Options :
71087056521. 1
71087056522. 2
71087056523. 3
71087056524. 4

Question Number : 62 Question Id : 71087014257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who, among the following, undertock a study of the treatment of the doctor as an outsider in
the works of Albert Camus and Manik Bandycpadhyay, using ‘conscience’ and 'alienation’ as
relevant motifs for the thematological endeavour ?

1. Amiya Dev

2. K. Ayyappa Panikker
3. Nabaneeta Dev Sen
4, K. M. George
Options :

71087056525. 1
71087056526. 2
71087056527. 3
71087056528. 4

Question Number : 62 Question Id : 71087014257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Hede B AR AHS SHEE &1 Siadl § [gfaiegd ¥ U fegd e 96l Afdd & U
faugas] da et Wl & o -Sagaqr SR [a9de &1 Wi d gU Sldel @1 [audas] IR
forarg 2

1. AT

2. &. W] Ufigdy
3. FEHAI 68 ¥

4. &, TH,
Options :
71087056525. 1
71087056526. 2
71087056527. 3
71087056528. 4

Question Number : 63 Question Id : 71087014258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following was the name of Odia journal of the Nabajuga Sahitya Sansad?

1. Adhunik Sahitya
2. Adhunika

3. Sahitya

4. Sabuja Sahitya
Options :
71087056529. 1
71087056530. 2
71087056531. 3
71087056532 4

Question Number : 63 Question Id : 71087014258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

g7 ifed THE S SIS U] & o1 414 U7 ?

1. e i

2. YD

3. il

4. ST Wi
Options :
71087056529. 1
71087056530. 2
71087056531. 3
71087056532 4

Question Number : 64 Question Id : 71087014259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
With the emergence of the short story in which one of the following languages are the
following periodicals associated: Ananda Vikatan, Kalaimagal, Manikkodi?

1. Sanskrit

2. Tamil

3. Malayalam
4. Marathi
Options :
71087056533. 1
71087056534. 2
71087056535. 3
71087056536. 4

Question Number : 64 Question Id : 71087014259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HHe fddhdd, DABHId 3R HHdhG GEHE fdrd HI9 8 oY Ul & 36d 4 Jafdd s 7

1. §%pd

2. dfFa

3. HcldletH

4, TRI31
Options :
71087056533. 1
71087056534. 2
71087056535. 3
71087056536. 4

Question Number : 65 Question Id : 71087014260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With which one of the following languages is Khas-kura generally associated?

1. Khasi

2. Nepali

3. Bengali

4. Manipuri
Options :
71087056537. 1
71087056538. 2
71087056539. 3
71087056540. 4

Question Number : 65 Question Id : 71087014260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



W - PRI FHI: [y HIeT & efdd g 2

1. GrHl

2. el

3. v

4, Hiogd
Options :
71087056537. 1
71087056538. 2
71087056539. 3
71087056540. 4

Question Number : 66 Question Id : 71087014261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following movements linked literature to the broader context of social
development and insisted on the responsibility of literature not only of reflecting society but
also of giving it some impetus for change?

1. Romantic movement
2. Classicism

3. Experimentalism

4. Progressive movement
Options :

71087056541. 1
71087056542. 2
71087056543. 3
71087056544. 4

Question Number : 66 Question Id : 71087014261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056541. 1
71087056542. 2
71087056543. 3
71087056544. 4

Question Number : 67 Question Id : 71087014262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
On the lives of people from which one of the following places do Temsula Ao's stories mostly
focus?

1. Manipur

2. Mizoram

3. Nagaland

4, Arunachal Pradesh
Options :
71087056545. 1
71087056546. 2
71087056547. 3
71087056548. 4

Question Number : 67 Question Id : 71087014262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

S el 3w itwiE: e § 3 fhg wH & i & oied R PR E ?

1. AR

2. feiRy

3. AFTIAUS

4. IHUET UG
Options :
71087056545. 1
71087056546. 2
71087056547. 3
71087056548. 4

Question Number : 68 Question Id : 71087014263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the literary terms below comes closest to the Rupaka in Assamese, the Rupak
Katha in Gujarati, and the Rupak in Bengali?

1. Aesthetics
2. Adaptation
3. Allegory

4. Anthology
Options :
71087056549. 1
71087056550. 2
71087056551. 3
71087056552. 4

Question Number : 68 Question Id : 71087014263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
HYH & ¥UD, ORI I TUD HYT AR §7l $UH J F9 § Y @ I Aigids U iFdc g 7

1, Gicdard

2. UTeldI

3. %Ud Y]

4. 978
Options :
71087056549. 1
71087056550. 2
71087056551. 3
71087056552. 4

Question Number : 69 Question Id : 71087014264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

To whom is attributed the Sanskrit text Samudrasangamah?

1. Darashikoh

2. Abul Fazal

3. Malik Muhammad Jayasi
4, Firdausi

Options :

71087056553 1
71087056554. 2
71087056555. 3
71087056556. 4

Question Number : 69 Question Id : 71087014264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



%pd Uy YHgEH: [hdd gRI = AH Sldl & ?

1. G Riaig

2. g Hald

3. Afcid He#g gl
4. Tl

Options :
71087056553. 1
71087056554. 2
71087056555. 3
71087056556. 4

Question Number : 70 Question Id : 71087014265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Among the following, which group is associated with Tevaram, an anthology of poems of
Bhakti literature?

1. Saiva Saints

2. Buddhist Sramanas
3. Vaishnava poets

4, Jaina Monks
Options :
71087056557. 1
71087056558. 2
71087056559. 3
71087056560. 4

Question Number : 70 Question Id : 71087014265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad 3 9 oF a1 wg Hidaaied & 99g * daxe 9 Fefd § 2

1. 919 4d

2. i $HUI

3. dWg ®fd
4.5 ™
Options :
71087056557. 1
71087056558. 2
71087056559. 3
71087056560. 4

Question Number : 71 Question Id : 71087014266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With which one of the following is content of the 'ankiya nat' generally associated?

1. Saivism

2. Theravada Buddhism
3. Hinayana Buddhism
4, Vaisnavism

Options :

71087056561. 1
71087056562. 2
71087056563. 3
71087056564. 4

Question Number : 71 Question Id : 71087014266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TaHd
2. ARG

3. BiHOM

4, qUIGHT
Options :
71087056561. 1
71087056562. 2
71087056563. 3
71087056564. 4

Question Number : 72 Question Id : 71087014267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is a class of Bhakti poets of Kashmir?

1. Akka Mahadevi, Rahim, Jayasi

2. Chandidas, Surdas, Utpaladeva

3. Utpaladeva, Lall Ded, Nund Rishi

4. Somananda, Utpaldeva, Shah Hussain
Options :

71087056565. 1

71087056566. 2

71087056567. 3

71087056568. 4

Question Number : 72 Question Id : 71087014267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FEfeiead 5 ¥ oF 91 H=ER & Had gl ©f b 9HE 67
1. b1 HElGdl, TEH, Sradl

2. dSlaE, Ward, Iddea
3. 3dGd, A GG, A6 BY
4. Mg, 3ddcd, X8 gar
Options :

71087056565. 1
71087056566. 2
71087056567. 3
71087056568. 4

Question Number : 73 Question Id : 71087014268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

After which of the following are the 3 books or kandas of the Silappadikaram named?

1. The three stages of love

2. The capitals of the three ancient Tamil kingdoms

3. The three most prominent Tamil poets of the times
4. The three sanctioned types of warfare

Options :

71087056569. 1

71087056570. 2

71087056571. 3

71087056572. 4

Question Number : 73 Question Id : 71087014268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. U9 & o 9IUF & YR WX

2. U df8d 9" &1 diF 9914l & 98 )

3. 39 UG & aildd URE di- diid eiddl & A i)
4. TH UBR & SRS g&l & 98 R

Options :

71087056569. 1

71087056570. 2

71087056571. 3

71087056572. 4

Question Number : 74 Question Id : 71087014269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following is the author of Kavipriya?

1. Tulsidasa

2. Keshavadasa

3. Jayadeva

4. Appayadikshita
Options :
71087056573. 1
71087056574. 2
71087056575. 3
71087056576. 4

Question Number : 74 Question Id : 71087014269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafaiad # § Al &1 dEs H 8 ?

1. gade™

2. HIEGH

3. odced

4. 3wy giférd
Options :
71087056573. 1
71087056574. 2
71087056575. 3
71087056576. 4

Question Number : 75 Question Id : 71087014270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following Sanskrit poets is known for his poetic excellence in the use of the
simile (Upama)?

1. Bharavi

2. Magha

3. Kalidasa

4, Bhavabhuti
Options :
71087056577. 1
71087056578. 2
71087056579. 3
71087056580. 4

Question Number : 75 Question Id : 71087014270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. YR
2. 919
3. BIfcie™

4, Hayfd
Options :
71087056577. 1
71087056578. 2
71087056579. 3
71087056580. 4

Question Number : 76 Question Id : 71087014271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is a class of poeticians of Alamkara School?

1. Bhamaha-Udbhat-Ruyyaka

2. Dandi-Anandavardhana-Kshemendra
3. Bharata-Bhamaha-Vamana

4, Bhamaha-Dandi-Kshemendra
Options :

71087056581. 1

71087056582. 2

71087056583. 3

71087056584. 4

Question Number : 76 Question Id : 71087014271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad # ¥ o 11 scidR JueH & dIeaNdl o1 98 © ?

1. HHE - Jac - &WdD

2. TUS! - HHeaHd - &Hs
3. H{d - HIHE - dlHA

4. HTHE - U - &=
Options :

71087056581. 1
71087056582. 2
71087056583. 3
71087056584. 4

Question Number : 77 Question Id : 71087014272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following holds that translation is the original's afterlife or survival stage?

1. Walter Benjamin
2. George Steiner
3. Anton Popvic

4. Theo Hermans
Options :
71087056585. 1
71087056586. 2
71087056587. 3
71087056588. 4

Question Number : 77 Question Id : 71087014272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad 5 O foud! 98 9d ¢ fov 3[dIe Hd UIs &1 3R - Wia- g1 Jusiiiddl &l TR0 g ?

1. ATce Aol
2. SIs R
3. U2 UiUifd®
4. im g g
Options :
71087056585. 1
71087056586. 2
71087056587. 3
71087056588. 4

Question Number : 78 Question Id : 71087014273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following correctly states the position of the translation studies scholar,
Lawrence Venuti?

1. Translations should "foreignize” the language in which they are written

2. Translations should "nativize" the thoughts and expressions of the foreign author
3. Translators should move the writer closer to the reader

4. Translators should remain invisible for ensuring objectivity

Options :

71087056589. 1

71087056590. 2

71087056591. 3

71087056592. 4

Question Number : 78 Question Id : 71087014273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FofeREd 3 ¥ ©F W $UF a6 JEg- & [JgH Ay d-el & SPdmIv $I Jol 3ooid idl o

1. 3aTG] H a9 HIN &1 * faegiieeor famar o amgu)
2. 3aral # facel dae & fart iR sifiyeafaadl @1 -wac=io & 9 9t

3. HdIG®| Bl UIed & &R B odd il dligU|
4, HIATCH! Bl TAAH FEGHB B Y ST I§T AIfeu|

Options :

71087056589. 1
71087056590. 2
71087056591. 3
71087056592. 4

Question Number : 79 Question Id

: 71087014274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of these plays is not part of Cages, a collection of plays by Mridula Garg, translated by

Tutun Mukherjee and published recently by the Sahitya Akademi as part of its Modern Indian

Drama series?

1. Jadu ka Kaleen
2. Kitni Quaidein
3. Ek aur Ajnabi
4. Pinjar

Options :
71087056593. 1
71087056594. 2
71087056595. 3
71087056596. 4

Question Number : 79 Question Id

: 71087014274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

FEfiRad # ¥ ®F 91 A1ed ggal I & e SUE doid H R el 5, ol ggd g@eil gRI
HAATE [ g1 7141 € AR Uiied Sfbietl 8R1 AU M1eiHe YR ATed %0 & YR & &4 J gd
e 1 UehTH Tl T g 2

1. 9I1g @I DI
2. foat &¢

3. U AR Aol
4, fUsR

Options :
71087056593. 1
71087056594. 2
71087056595. 3
71087056596. 4

Question Number : 80 Question Id : 71087014275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following has made a case for a literary comparativism that would include not
only horizontal comparison, between “case A" and “case B", but also vertical "relating global
and local"?

1. Gideon Toury

2. Linda Hutcheon
3. Mary Louise Pratt
4. Emily Apter
Options :
71087056597. 1
71087056598. 2
71087056599. 3



71087056600. 4

Question Number : 80 Question Id : 71087014275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frafafaa # ¥ feu- aiikfde qa-iaddl & Ue &9 ddR [ddl |l ddd * &d A 3R ' $I B &
a1 &l o1 Bl Bt M 5] ®al gich did® 3R WG U § 31 §ofl daad Hi gidl 3|

1. g g
2. fefsT gRaTH
3. W Ry ue
4. T TR
Options :
71087056597. 1
71087056598. 2
71087056599. 3
71087056600. 4

Question Number : 81 Question Id : 71087014276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Raymond Williams, which three temporalities always interact in any social
institution?

1. Dominant, Residual and Resistant

2. Dominant, Residual and Emergent

3. Dominant, Marginal and Emergent

4. Centripetal, Centrifugal and Obsolescent
Options :

71087056601. 1

71087056602. 2

71087056603. 3



71087056604. 4

Question Number : 81 Question Id : 71087014276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U f3feigm o SR & 41 dH Sragaddl sa fad! Hi ararferes =i g sfa:fbhar axdi
87

1. YT, ARy R ufcRid

2. T, fafiny 3R Sgmt
3. UyTdt, Juifae 3R It

4. 3THBEI, SHUDEIY 3R vEfcrd
Options :

71087056601. 1

71087056602. 2

71087056603. 3

71087056604. 4

Question Number : 82 Question Id : 71087014277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In his essay, "Comparative Non-literature and Everyday Digital Textuality”, part of 2014-15
State of Discipline Report, Scott Kushner argues that

1. Everyday digital textuality has robbed comparative literature departments of their
disciplinary rationale

2. Everyday digital textuality has opened up new possiblities of textuality in comparative
literature departments

3. Everyday digital textuality has reinscribed a notion of traditional literariness in the practice
of comparative literature

4. Everyday digital textuality has seriously undermined the quality of scholarship in
comparative literature

Options :

71087056605. 1

71087056606. 2

71087056607. 3

71087056608. 4

Question Number : 82 Question Id : 71087014277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

BIERfeg A1 - =R 1S tadls faforea caegufad Fay T 2014 - 15 YFT & wT 3B
fsfaei Ruid & Wic IR a6 Hd & 1@ -

1. Widfe fSfored uread] qoias dified [AHRT H 34 RIS dib &I 820 B g@i ¢

2. Ufafed fefored ureddr qa-Ide diied Ayt  greadl &1 73 YHIE- Eid &1 g

3. yfafed fEfored uread qaId® diied & aeR H WIRFTd Hiiefdddl B YR Sifdd &3
ELad

4, Afafe f&fored uredal gaa® Aifed & TR ¥ 9 a9t &1 7uiaw &1 9ie @G 9@ 8

Options :

71087056605. 1

71087056606. 2




71087056607. 3
71087056608. 4

Question Number : 83 Question Id : 71087014278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What term describes Paul Van Tieghem's idea of ‘influence'?

1. Horizon of expectation
2. Diffusion

3. Hospitality

4. Rapport de fait
Options :

71087056609. 1
71087056610. 2
71087056611. 3
71087056612. 4

Question Number : 83 Question Id : 71087014278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ui aF [qued @1 SESal 316 3Ueguy & R J &4 91 U6 adidl & ?

1. BINGH b TaqUaca
2. FewgeH

3. gradreferdt
4.301¢ 3 e

Options :

71087056609. 1
71087056610. 2
71087056611. 3
71087056612. 4



Question Number : 84 Question Id : 71087014279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following phrases best completes the sentence?
"New Historicism is a form of

1. Aesthetic resistance

2. Translation politics

3. Post-colonial narrative
4. Cultural Poetics
Options :

71087056613. 1
71087056614. 2
71087056615. 3
71087056616. 4

Question Number : 84 Question Id : 71087014279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafad =H o Rad ®=H &1 1R & [0 &F 91 et 964 3udd & -

"4 - SABIRAAG _ ®I G U g 7"

1. raUud Ul

2. 3aTG eI

3. 3 - MU e
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Options :

71087056613. 1
71087056614 2
71087056615. 3




71087056616. 4

Question Number : 85 Question Id : 71087014280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following matches Franco Moretti's procedure of 'distant reading'?

1. Reading in translation without particular emphasis on textual detail

2. Reading in original with particular emphasis on textual detail

3. Reading at a distance separated by the unique insights of a cultural outsider
4. Reading at a distance joined by the shared privileges of a common language
Options :

71087056617 1

71087056618. 2

71087056619. 3

71087056620. 4

Question Number : 85 Question Id : 71087014280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafciead o 9 o 91 ol 4ke1 & ' g3 UsT B Uihal ¥ gafd 8 2

1. U114 fdaR0l | =9 SR f&u famr srarg o ugAn

2. UT3TY f4aR 1R fa¥iY SR ¢ gaey 3 U]

3. Upial 91l Afdd @I fafIy Sideiy & gRI gIy favied uaH
4. U% QT Y91 &1 I1ei Gyl & gR1 6% 9gad UaH
Options :

71087056617. 1

71087056618. 2

71087056619. 3

71087056620 4




Question Number : 86 Question Id : 71087014281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The first history of Indian literature was NOT published until the 1850s and it was written by

1. John Taylor

2. Hermann Jacobi

3. Albrecht Weber

4, Theodor Zachariae
Options :
71087056621. 1
71087056622. 2
71087056623. 3
71087056624. 4

Question Number : 86 Question Id : 71087014281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YR Wifed &1 UuH Sfdg 99 1850 3. dd UDIRId ol g1 4T HIR 34 ferar a1 o1 -

1. S ¢ GRT

2. U TP E! gRT

3. ool e gRI

4. TAUSR W1l gRI
Options :
71087056621. 1
71087056622. 2
71087056623. 3
71087056624. 4

Question Number : 87 Question Id : 71087014282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following defines comparative literature as "the study of literary works of
different literature through their mutual relationships”?

1. Joseph Texte

2. Rene Wellek

3. Paul Van Tieghem
4. Francois Jost
Options :
71087056625. 1
71087056626. 2
71087056627. 3
71087056628. 4

Question Number : 87 Question Id : 71087014282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafaiad 9 ¥ {o94 aHe died @i “fafid giedl & IRERe Gadl & 71 4 3461
iiefd® Siadl & HHGT & 4§ gRyINd fear g

2.3 daid

3. Ui 9 fevrgH
4. To I id
Options :
71087056625. 1
71087056626. 2
71087056627. 3
71087056628. 4

Question Number : 88 Question Id : 71087014283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



While applying Henry Remak's statement, "Comparative literature superimposes a viable
international perspective on literature seen as a national and personal creation” to the Indian
context, which of the following terms does Nabaneeta Dev Sen suggest to replace the terms
‘international’ and ‘national'?

1. National and regional

2. Regional and national

3. Interdisciplinary and national
4. Interdisciplinary and regional
Options :

71087056629. 1

71087056630. 2

71087056631. 3

71087056632. 4

Question Number : 88 Question Id : 71087014283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I D &b Y, “TOIeP Hiied TR U oUdgTd AP TPHIV ST LRIV Hdl § o d
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1. AP IR &5

2. &1 AR AT

3. SieRfavgs 3R P
4, Rfaw® iR &g
Options :

71087056629. 1
71087056630. 2
71087056631. 3
71087056632. 4




Question Number : 89 Question Id : 71087014284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the history of biblical interpretation, which four major types of hermeneutics have emerged?

1. Literal, Moral, Iconical and Emblematical
2. Literal, Symbolic, Iconical and Analogical
3. Literal, Moral, Allegorical and Analogical
4. Hidden, Open, Indexical and Emblematical
Options :

71087056633. 1

71087056634. 2

71087056635. 3

71087056636. 4

Question Number : 89 Question Id : 71087014284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qSfciy Rl o Siaer H ARATIHIHT (8H-ge) & ®F U IR UHE UhR 3HY ?
1. Mfee®, Afad, SUddIED AR ATES

2. Yfeid, YdibTdD, HHdIDIHS HR GERGHID
3. Yfea, Afdd, FUDBIHS AR JEIGHAD

4, 3R, Udhe, Yadbidd AR EdD

Options :

71087056633. 1

71087056634. 2

71087056635. 3

71087056636. 4

Question Number : 90 Question Id : 71087014285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following theoreticians first declared that language is a system of differences?

1. Jacques Derrida

2. Roman Jackobson

3. Ferdinand de Saussure
4. 1. A. Richards

Options :

71087056637. 1
71087056638. 2
71087056639. 3
71087056640. 4

Question Number : 90 Question Id : 71087014285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafafad 7 fod Fgider 4 gad ugd gg Uil & f HIeT fisdrsd &1 Ueb Joei g 2

1. 9l GRal

2. AH S o8

3. BigHs f8 T8
4, 2T Frady
Options :
71087056637. 1
71087056638. 2
71087056639. 3
71087056640. 4

Question Number : 91 Question Id : 71087014286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following two statements are true about Mahabharata?
A. It is considered to be an itihasa-kavya

B. Its central rasa is santa

C. lts narrative is built around one hero (nayaka)

D. It was originally composed as Vijaya Mahakavya

E. It is also called the adi-kavya

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. A and B only
4. D and E only
Options :
71087056641. 1
71087056642. 2
71087056643. 3
71087056644. 4

Question Number : 91 Question Id : 71087014286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HaA A 3R C
2. ®ad A AR D
3. HaAd A AR B
4. HaAD ARE
Options :
71087056641 1
71087056642. 2
71087056643, 3
71087056644 4

Question Number : 92 Question Id : 71087014287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following does Sieghild Bogumil identify as characteristics of the comparative
outlook that emerged in 19" century Germany?

A. A genetic understanding of the relationships among literature

B. A critical scepticism of stoffgeschichte or thematology in effecting comparative studies
C. The predominance of facts

D. The idea of universalism

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, B and D only
3.B,Cand D only
4. A, Cand D only
Options :
71087056645. 1
71087056646. 2
71087056647. 3
71087056648. 4

Question Number : 92 Question Id : 71087014287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. ®HAA A, B AR D
3. ®aAB, C3RD
4. HAAA, C3RD
Options :
71087056645 1
71087056646. 2
71087056647. 3
71087056648. 4

Question Number : 93 Question Id : 71087014288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are named as important landmarks for the development of the
world literature in the introduction to Emily Apter's Against World Literature?

A. World Literature Today, edited by Djelal Kadir from 1991 to 1997
B. Pascale Casanova's The World Republic of Letters

C. Buddhadeva Bose's Comparative Literature in India

D. Pascale Casanova's La Republique Mondiale des Lettres

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087056649. 1
71087056650. 2
71087056651. 3
71087056652. 4

Question Number : 93 Question Id : 71087014288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu Y fddmedl & 9 981 3R &l 98 &1 ;

1. HAAA, B 3R C
2. ®HAA A, B AR D
3. ®aAA A, C3HRD
4. HadA B, C AR D
Options :
71087056649. 1
71087056650. 2
71087056651 3
71087056652. 4

Question Number : 94 Question Id : 71087014289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two concepts have been imported from the history of art to literary history for purposes
of periodization?

A. Baroque

B. Abstract

C. Renaissance

D. Medium

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3.B and C only
4. A and D only
Options :
71087056653. 1
71087056654. 2
71087056655. 3
71087056656. 4

Question Number : 94 Question Id : 71087014289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. Had A AR C
3. ®HaAAB AR C
4. HAAA AR D
Options :
71087056653 1
71087056654. 2
71087056655. 3
71087056656 4

Question Number : 95 Question Id : 71087014290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following have argued for comparison between literary and non-literary?
A. Paul Van Tieghem

B. Charles Bernheimer

C. Douwe W. Fokkema

D. Henry H.H. Remark

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand D only
3. A, B and D only
4. B, Cand D only
Options :
71087056657. 1
71087056658. 2
71087056659. 3
71087056660. 4

Question Number : 95 Question Id : 71087014290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. ®@ad A, C 3R D
3. ®AA A B AR D
4. HadA B, C AR D
Options :
71087056657. 1
71087056658. 2
71087056659. 3
71087056660. 4

Question Number : 96 Question Id : 71087014291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In Charles Bernheimer's Comparative Literature in the Age of Multicufturalism which two of the
following scholars propose a discipline which is open to historical change and Third World

Cultures?

A. Rey Chow

B. Mary Louise Pratt

C. Emily Apter

D. Elizabeth Fox Genovese

Choose the correct answer from the options given below:

1. Cand D only
2. B and C only
3. A and C only
4. B and D only
Options :
71087056661. 1
71087056662. 2
71087056663. 3
71087056664. 4

Question Number : 96 Question Id : 71087014291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. HaA B AR C

3. HAAA AR C

4. HadB R D

Options :

71087056661. 1
71087056662, 2

71087056663. 3
71087056664. 4

Question Number : 97 Question Id : 71087014292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following describe René Wellek, founder of the Department of Comparative
Literature at Yale University?

A. An exiled Czech scholar

B. Affiliated to the Prague school of linguistics

C. Trained in Oriental philological tradition

D. With alleged links to Nazi Germany

Choose the correct answer from the options given below:

1. B and C only
2. A and C only
3. B and D only
4. A and B only
Options :
71087056665. 1
71087056666. 2
71087056667 3
71087056668. 4

Question Number : 97 Question Id : 71087014292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. PaA B 3R C

2. Had A AR C

3. @AAB AR D

4. Had A 3R B

Options :

71087056665. 1

71087056666. 2

71087056667 3
71087056668. 4

Question Number : 98 Question Id : 71087014293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two among the following belong to the Tel Aviv School of Comparative Literature?
A. ltamar Even-Zohar

B. Peter Szondi

C. Yuri Tynyanov

D. Benjamin Hrushovski

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. A and C only
4. B and D only
Options :
71087056669. 1
71087056670. 2
71087056671. 3
71087056672. 4

Question Number : 98 Question Id : 71087014293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu TTu fasedl & 9 981 SR g -
1. Badd A 3R D

2. HaAB AR C

3. HAAA AR C

4. HadB R D

Options :

71087056669. 1

71087056670, 2

71087056671. 3
71087056672. 4

Question Number : 99 Question Id : 71087014294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following which two statements are applicable to Goethe's idea of Weltliteratur?

A. The rise of "a world literature” as conditioned on the imposition of sameness across the
world by the "bourgeoisie”

B. "World literature” as a counter to national literature

C. Anticipation of a confluence of differences

D. All "national and local” differences as having been made obsolete
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087056673. 1
71087056674. 2
71087056675. 3
71087056676. 4

Question Number : 99 Question Id : 71087014294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. hdd A 3R B

2. &dd B 3R C

3. &ad C AR D

4. ®dd B AR D

Options :

71087056673 1

71087056674. 2

71087056675. 3
71087056676. 4

Question Number : 100 Question Id : 71087014295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of these could be called an "adaptation'?

A. Eugene O'Neill's Mourning becomes Electra

B. Wole Soyinka's The Bacchae of Euripides

C. Gregory Rabbasa's One Hundred Years of Solitude

D. Nabaneeta Dev Sen's Counterpoints

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3.Cand D only
4. B and D only
Options :
71087056677. 1
71087056678. 2
71087056679. 3
71087056680. 4

Question Number : 100 Question Id : 71087014295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056677 1

71087056678, 2

71087056679. 3
71087056680. 4

Question Number : 101 Question Id : 71087014296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two authors among the following were translated by Baudelaire?
A. De Quincey

B. Thoreau

C. Poe

D. Whitman

Choose the correct answer from the options given below:

1. B and D only
2. B and C only
3. A and B only
4. A and C only
Options :
71087056681. 1
71087056682. 2
71087056683. 3
71087056684. 4

Question Number : 101 Question Id : 71087014296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Baa B 3R D
2. HaAAB AR C
3. HaAd A AR B
4. HAAA 3R C
Options :
71087056681. 1
71087056682. 2
71087056683. 3
71087056684. 4

Question Number : 102 Question Id : 71087014297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the two distinct genres/types of poems the Tolkappiyam divides into?
A, Akam

B. Acai

C. Puram

D. Etukai

E. Totai

Choose the correct answer from the options given below:

1. A and B only
2. B and E only
3. A and C only
4. A and D only
Options :
71087056685. 1
71087056686. 2
71087056687 3
71087056688. 4

Question Number : 102 Question Id : 71087014297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu TTu fasedl & 9 981 SR g -
1. A A 3R B
2. HadB AR E
3. HAd A AR C
4, HAA A AR D
Options :
71087056685. 1
71087056686. 2

71087056687 3
71087056688. 4

Question Number : 103 Question Id : 71087014298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about Rubai?

A. The term Rubai refers to four misras that form the four quatrain

B. Rubai originates in the Persian literary tradition

C. Rubai is closely associated with kavitta, a popular genre in Hindi poetry
D. Gazals are composed generally in the Rubai form

Choose the correct answer from the options given below:

1. B and C only
2. A and B only
3.Cand D only
4. B and D only
Options :
71087056689. 1
71087056690. 2
71087056691. 3
71087056692. 4

Question Number : 103 Question Id : 71087014298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



=613 & g H Fgieied § 4 oH 4 5y 981§ 2

A, Edls’ Weg B MRA IR BRI ¢ ol IR Iqwdl &1 Haiu &d 8l
B. Iy B I BRY! Uiefdd W H g3

c. [8d! T ©f dieiug g Sida & 91y Tan @ 9HE 969 5
D. 75Tl HHHId: ¥ dlg & ¥U | fod! o g |

i U e faeal # 9 98l SR 9 -

1. PaA B 3R C
2. Had A AR B
3. ®ad C 3R D
4. HaAB 3R D
Options :
71087056689. 1
71087056690. 2
71087056691 3
71087056692. 4

Question Number : 104 Question Id : 71087014299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following epics are also known as Arsha-kavya?
A. Raghuvamsham

B. Ramayana

C. Kiratarjuniyam

D. Mahabharata

E. Ramacharitmanas

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3.B and C only
4. D and E only
Options :
71087056693. 1
71087056694. 2
71087056695. 3
71087056696. 4

Question Number : 104 Question Id : 71087014299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofeiad o O oF 91 ggee Rl - B B 7

i feu TTu fasedl & 9 981 SR g -

1. Bad A AR D
2. ®Had B AR D
3. ®HaAAB AR C
4. HaAD ARE
Options :
71087056693. 1
71087056694. 2
71087056695. 3
71087056696. 4

Question Number : 105 Question Id : 71087014300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of these does Kabir call himself in his own writings 7
A. Jolaha

B. Kori

C. Khuda

D. Muslim

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and D only
4. B and D only
Options :
71087056697. 1
71087056698. 2
71087056699. 3
71087056700. 4

Question Number : 105 Question Id : 71087014300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A IR HHER A HH IR A T A T dal g ?

A. S[aTaT

B. BRI

C. gal

D. HITHH

i feu TTu fasedl & 9 981 SR g -
1. Had A 3T B
2. HAA C 3R D
3. BATASMRD
4. HadB R D
Options :
71087056697. 1
71087056698, 2

71087056699. 3
71087056700. 4

Question Number : 106 Question Id : 71087014301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of these statements are true of Mira's poetry?

A. They are in Rajasthani

B. They sing of Krishna as husband

C. They sing of battles between the ruling dynasties in Rajasthan
D. Some of her verses are incorporated in Prithviraj Raso
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087056701. 1
71087056702. 2
71087056703. 3
71087056704. 4

Question Number : 106 Question Id : 71087014301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AR @ Sfeasi s U sH eI T HYTId 6 ?
A AIEHIH G

B. 36 &WI &l Ufd =9 H AHT T 5|

C. 3TH IS & el URART & dfid gl &1 9uiH |
D. 31 $& Ue] I RISl Al H H Yhfeid g
i U e faeal # 9 98l SR 9 -

1. Had A 3R B

2.%adB 3R C

3. ®ad C R D
4, HIAD 3R A
Options :
71087056701. 1
71087056702. 2
71087056703. 3
71087056704. 4

Question Number : 107 Question Id : 71087014302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Madhumalati, the Prema-Akhyana had used following formal literary elements within the text
A. Convergence of plot and tale

B. Sarapa

C. Barahmasa

D. Revenge motif

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3.B and C only
4. A and C only
Options :
71087056705. 1
71087056706. 2
71087056707. 3
71087056708. 4

Question Number : 107 Question Id : 71087014302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HYHIE UF e & uTe! & Wi i stoaie aifefds dal &1 mrgen s -
A BYFD 31X BeHT BT AU

B. HIUT

C. SREHM

D. Ufd=e &1 U=

i feu TTu fasedl & 9 981 SR g -
1. Badd A 3R D

2. HAAB AR D

3. HaA B AR C

4. HAAA R C

Options :

71087056705. 1

71087056706, 2

71087056707. 3
71087056708. 4

Question Number : 108 Question Id : 71087014303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following terms are applicable to the idea of "retelling of texts/tradition"?
A Tale

B. Motif

C. Plot

D. Difference in Identity

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and D only
4. B and C only
Options :
71087056709. 1
71087056710. 2
71087056711. 3
71087056712. 4

Question Number : 108 Question Id : 71087014303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafciiad | ®11 91 Ug U6, W & Yoy & [3aR W Sruga Bidl g 2
A Y

B. HTUUE

C. HUTaR
D. HRHAT H iR
d feu T1u fadedl ¥ 981 IR 9T

1. &dd A 3R B
2. ®ad C R D
3. PAAA R D
4, HIAB IR C
Options :
71087056709. 1
71087056710. 2
71087056711. 3
71087056712. 4

Question Number : 109 Question Id : 71087014304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of these are true in relation to Thakazhi Sivasankara Pillai?

1. Thottiyude Makan has fishermen as protagonists
2. Chemmeen has fishermen as protagonists

3. Chemmeen has scavengers as protagonists

4. Premalekhana has scavengers as protagonists
Options :



71087056713. 1
71087056714. 2
71087056715. 3
71087056716. 4

Question Number : 109 Question Id : 71087014304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g9 B dorl FRIggier s o SR H §d§ 2

1. 2fedIC AaH & T8 UHF 953K 5 |

2. 98 & T30 U 053 & |

3. 98 & 930 U 9%Ig & did &

4, YOcigd & 43 A 9hls & dld g |
Options :

71087056713. 1

71087056714. 2

71087056715. 3

71087056716. 4

Question Number : 110 Question Id : 71087014305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following scripts have been used to write Konkani?
A. Nagari

B. Kannada

C. Malayalam

D. Tibetan

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Cand D only
4. A, B and D only
Options :
71087056717. 1
71087056718. 2
71087056719. 3
71087056720. 4

Question Number : 110 Question Id : 71087014305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hicull ferg @ e Fafeiad H 9 oy it &1 uan fear | g 2
A, TR

B. PAS

C. ATaIaH

D. foissreil

i U e faeal # 9 w8l 3w gy -

1. HAAA, B 3R C
2. @A B, C3RD
3. @aaC, D3R A
4. HAAD, A 3R B
Options :
71087056717. 1
71087056718. 2
71087056719. 3
71087056720. 4

Question Number : 111 Question Id : 71087014306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true of the sutradhar in the ankiya nat?

A. He is more like the oja of the ojapali than the sutradhar of Sanskrit drama
B. He remains on the stage from the beginning to the end of the performance
C. He functions neither as director nor as a commentator

D. He recites the Nandi

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3.B,Cand D only
4. A, Cand D only
Options :
71087056721. 1
71087056722. 2
71087056723. 3
71087056724. 4

Question Number : 111 Question Id : 71087014306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HP A HPIR S U g 4 o ad g ?

A, TEpd ATCh] & GAUR & GHH dg H AIAgel & 31 & I9H 5
B. UG ®] TSHd U P 3id dd dg Hd W a1 gdl §

C.dg A dl Feu® & U H & Bdl ¢ 3R 7 HER & ©0 H
D. 38 el a4 &dl &

2 feu T fowenl © @ wE S g

1. BAAA, B3R C

2. HAA A, B 3R D

3. HadB, C AR D

4, BAAA, CHR D

Options :

71087056721. 1

71087056722. 2

71087056723. 3
71087056724. 4

Question Number : 112 Question Id : 71087014307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following can be identified in Herge's Tintin au Congo?
A. Infantilisation of the Black African man

B. Perpetuation of a technologistic narrative of civilisation

C. Empowering the Black woman over the Black man

D. Empowering the Black child over the Black woman

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and C only
4. B and D only
Options :
71087056725. 1
71087056726. 2
71087056727. 3
71087056728. 4

Question Number : 112 Question Id : 71087014307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ul & D17l A feqfeq & g § Fafciad § 9 o ¥ faur 981 82
A. 31T HBID! TEY B AR D THM Hale FeRid &

B. 9l & Urelifis] e faael ot 2nsyd s=H

C. 3%4d T DI o1 S13d Algal i YD Fad g1

D. 37%d AT B JoH1 H 3H4d G1cic DI 3HfEid Fad g1
i feu TTu fasedl & 9 981 SR g -

1. Had A 3R B
2. ®ad C 3R D
3. @A A AR C
4. HaAB 3R D
Options :
71087056725 1
71087056726. 2
71087056727. 3
71087056728. 4

Question Number : 113 Question Id : 71087014308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following Performing Art forms, which ones belong to Kerala?
A. Bagurumba

B. Kathakali

C. Mudiyettu

D. Fugdi

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3.B and C only
4. Cand D only
Options :
71087056729. 1
71087056730. 2
71087056731. 3
71087056732. 4

Question Number : 113 Question Id : 71087014308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afaRad ueeie oansil § 9 e 9y &id ¥ 57

A. S
B. YDl

c. qf&ug

D. TSl
= fau e faseal & ¥ OE IR &1 90 ®e

1. Had A 3R B
2. ®ad A AR D
3. ®HaAAB AR C
4. &ad C AR D
Options :
71087056729. 1
71087056730. 2
71087056731. 3
71087056732. 4

Question Number : 114 Question Id : 71087014309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two texts are written in languages outside the Indian Subcontinent? :
A. Kamban Ramayana

B. Ramakien

C. Kakawin Ramayana

D. Paumcariya

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. A and C only
4. B and C only
Options :
71087056733. 1
71087056734. 2
71087056735. 3
71087056736. 4

Question Number : 114 Question Id : 71087014309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafeiad # 9 @M 9 & 9y YR SUHBIEIT § 9183 &1 HIuis J Aad &2
A, Da JHEE

B. YHNGIT

C. DIb{d ITHMAY

D. U3HT™

i U e faeal # 9 w8l 3w gy -

1. Had A 3R B
2. ®ad A AR D
3. @A A AR C
4. HAAB 3R C
Options :
71087056733 1
71087056734. 2
71087056735. 3
71087056736. 4

Question Number : 115 Question Id : 71087014310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two works among the following are examples of fictive appropriation?
A, G.H. Coetzee, Foe

B. Patrick White, The Tree of Man

C. N. Scott Momaday, House Made of Dawn

D. Peter Carey, Jack Maggs

Choose the correct answer from the options given below:

1. B and D only
2. A and D only
3.Cand D only
4. B and C only
Options :
71087056737. 1
71087056738. 2
71087056739. 3
71087056740. 4

Question Number : 115 Question Id : 71087014310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiaa # ¥ oF 1 af Biadl sledi-ie faHaieH &1 3alevl & ?
A. Sil.Ed BT, Bl

B. Ufcd ®5e, gt 8ih A7

C. T, TpIc A8, gIH Y HS 3B S

D. UIex &, U 71

-l feu Y famedl & 9 Wl 3R 9 -

1. Baa B 3R D
2. ®ad A AR D
3. ®ad C 3R D
4. HAAB IR C
Options :
71087056737 1
71087056738. 2
71087056739. 3
71087056740 4

Question Number : 116 Question Id : 71087014311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Chronicle Region

A. Chachanamah . Bengal

B. Rajtarangini . Sri Lanka
C. Dipvamsa l1l. Sindh
D. Ramcharitam V. Kashmir

Choose the correct answer from the options given below:

TA-IV,BE-I,C-1,D-1
2ZA-ILB-U,C-1V, D-I
SA-ILB-IV,C-1l, D-1
4A-1LB-ILC-Iv, D-1
Options :

71087056741. 1
71087056742. 2
71087056743. 3
71087056744. 4

Question Number : 116 Question Id : 71087014311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt -1 | fqu e gl o et -1l H G0 71U 39 &3 & 91y gAfad dife 58 3iderd @1 38

FUH I & -

gl -| -1l
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A, TEAMI . T
B. Tt 1. SicibT
C. algasl IREES
D. JHANTH V. DEHR
I feu U faseal o T Tg! 39 &1 90 @y

TA-IV,E-I,C-1, D-1
2ZA-ILB-U,C-1V, D-I
SA-ILB-IV,C-1l, D-1
4A-1LB-ILC-Iv, D-1
Options :

71087056741. 1
71087056742. 2
71087056743. 3
71087056744. 4

Question Number : 117 Question Id : 71087014312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Text Statements

A, Ain - e - Akbari . Kabir was born in 1398

B. A History of The Maratha People|ll. Kabir visited Jagannath Temple in Puri

C. Kabir Charitra Bodh lIl. Kabir visited Baghdad

D. Kabir Mansur V. Kabir visited Pandharpur in south Maharashtra

Choose the correct answer from the options given below:

TA-1LBE-UI,C-1V,D-1l
2ZA-ILB-IV, C-1, D-1I
SA-IVEB-ILC-1, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056745. 1
71087056746. 2
71087056747. 3
71087056748. 4

Question Number : 117 Question Id : 71087014312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1LBE-IL,C-1V, D-1
2ZA-ILB-IV, C-1, D-1I
SA-IVEB-ILC-1, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056745. 1
71087056746. 2
71087056747. 3
71087056748. 4

Question Number : 118 Question Id : 71087014313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Author Book

A. Mona Baker . Translation and Globalization
B. Jeremy Munday Il. After Babel

C. Michael Cronin lIl. Translation and Intervention
D. George Steiner \V. Translation and Conflict

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IV,C-1I, D-1I
SA-ILB-U,C-1V, D-1I
4A-1LB-IV.C-1l, D-11
Options :

71087056749. 1
71087056750. 2
71087056751. 3
71087056752. 4

Question Number : 118 Question Id : 71087014313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. HI3Hd it 1. ZHCYH US $exd¥H
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i feu T fasenl o O U8l IR 9T

TA-IV,E-U,C-1, D-1
2ZA-ILB-IV,C-1I, D-1I
SA-ILB-U,C-1V, D-1I
4A-1LB-IV.C-1l, D-11
Options :

71087056749. 1
71087056750. 2
71087056751. 3
71087056752. 4

Question Number : 119 Question Id : 71087014314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Works Authors

A. Kavyadarsa l. Kshemendra
B. Kavyalankara Il. Bhojaraja

C. Aucityavicaracarca |lll. Dandi

D. Shringaraprakash |IV. Bhamaha

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-IV,C-1I, D-1I
SA-ILB-U,C-1V, D-1I
4AA-IV.B-IIILC-1, D-1
Options :

71087056753. 1
71087056754. 2
71087056755. 3
71087056756. 4

Question Number : 119 Question Id : 71087014314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1LB-I,C-1I, D-IV
2ZA-ILB-IV,C-1I, D-1I
SA-ILB-U,C-1V, D-1I
4AA-IV.B-IIILC-1, D-1
Options :

71087056753. 1
71087056754. 2
71087056755. 3
71087056756. 4

Question Number : 120 Question Id : 71087014315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Poet Text

A. Kamban I. Thiruppavai

B. llampo Adigal II. Thirukkural

C. Thiruvalluvar IIl. Silappadikaram
D. Andal IV. Iramavataram

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-U,C-1V, D-I
SA-IVEB-ILC-1, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056757. 1
71087056758. 2
71087056759. 3
71087056760. 4

Question Number : 120 Question Id : 71087014315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1LB-I,C-1I, D-IV
2ZA-ILB-U,C-1V, D-I
SA-IVEB-ILC-1, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056757. 1
71087056758. 2
71087056759. 3
71087056760. 4

Question Number : 121 Question Id : 71087014316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

Poet Language
4. Bhima Bhoi . Brajbhasha
B. Pash Il. Odiya

C. Surdas lIl. Punjabi
D. Tulasi V. Awadhi

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2A-LB-I,C-1l, D-1IV
SA-IVEB-ILC-1, D-1I
4 A-NILB-ILC-I, D-IV
Options :

71087056761. 1
71087056762. 2
71087056763. 3
71087056764. 4

Question Number : 121 Question Id : 71087014316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILBE-N,C-1, D-IV
2A-LB-I,C-1l, D-1IV
SA-IVEB-ILC-1, D-1I
4 A-NILB-ILC-I, D-IV
Options :

71087056761. 1
71087056762. 2
71087056763. 3
71087056764. 4

Question Number : 122 Question Id : 71087014317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I
Progressive Writers Languages
A. Dinu Bhai 'Pant’ . Oriya

B. Nagarjun (Yatri) Il. Malayalam
C. Vaikkom Muhammed Basheer lll. Dogri

D. Bhagabati Charan Panigrahi V. Maithili

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2A-IVB-ILLC-1I, D-1I
SA-ILB-IV,C-1l, D-1
4A-1LB-ILC-Iv, D-1
Options :

71087056765. 1
71087056766. 2
71087056767. 3
71087056768. 4

Question Number : 122 Question Id : 71087014317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad wifaRiic cad! & 34 Feftd HIus & 91y afed DIf

gl -| T -1l
PUIGEINESEEES i)

A. T WIS U . I

B. AR (T . Ao
C. dIg® M HgHg §3iR 11 ST
D. YT 9307 UIfoRTg! v, B
e fgu e fadedl o © Oel IR g

TA-ILBE-N,C-1, D-IV
2A-IVB-ILLC-1I, D-1I
SA-ILB-IV,C-1l, D-1
4A-1LB-ILC-Iv, D-1
Options :

71087056765. 1
71087056766. 2
71087056767. 3
71087056768. 4

Question Number : 123 Question Id : 71087014318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List Il

Historian Theory

A. Hayden White . Inherited Text

B. Raymond Williams  |Il. Long duration

C. Sisir Kumar Das lll. Meta History

D. H.L Bergson IV. Structure of feeling

Choose the correct answer from the options given below:

1. A-IV, B-ll, C-lil, D-I
2. A-lll, B-IV, C-|, D-lI
3. A-l, B-lll, C-1V, D-lI
4. A-ll, B-1, C-1V, D-Ill

Options :

71087056769. 1
71087056770. 2
71087056771. 3
71087056772. 4

Question Number : 123 Question Id : 71087014318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad Uied & SEN®R! & 3o MGid ® Ty gHfd i :

gl -| gl -1l

e & SfaeeR BE

A B ®/IEC . 3RS dae

B. 3qUe faferrg 1. ST SI=H

. URR$AR ™ 1. Hel gl

D. Ud. Udl. &1l V. TR SHh BifeH
i fgu e fadedl o © Oel IR AU

TA-IV,E-I,C-1I, D-1
2ZA-ILB-IV,C-1I, D-1I
SA-LB-N,C-IV, D-1I
4 A-ILB-LC-IV, D-1
Options :

71087056769. 1
71087056770. 2
71087056771. 3
71087056772. 4

Question Number : 124 Question Id : 71087014319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Composers Works

A. Debussy [. Salome
B. Strauss II. Death in Venice
. Britten Il Pelléas et Mélisande

D. Tchaikovsky |IV. Eugene Onegin

Choose the correct answer from the options given below:

TA-IV,E-I,C-1I,D-I
2A-ILB-1,C-1l, D-1IV
SA-ILB-U,C-1, D-1IV
4A-ILBE-IV,C-I, D-1
Options :

71087056773. 1
71087056774. 2
71087056775. 3
71087056776. 4

Question Number : 124 Question Id : 71087014319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt -1 7 U T SeiideRi & gl -1 7 & 715 TgA1e & 91y Gafd &1

gl -| gl -1l

TIHIBR REE|

A, Sadl . |

B. & 1. 3Y 34 a9

c.Taga 1. UTeT3Y ¢ Afewis

D. AIgdIckd! |IV. guid HHFH

e fgu e fadedl o O Oal IR AU

TA-IV,E-1,C-1I, D-1
2A-ILB-1,C-1l, D-1IV
SA-ILB-U,C-1, D-1IV
4A-ILBE-IV,C-I, D-1
Options :

71087056773. 1
71087056774. 2
71087056775. 3
71087056776. 4

Question Number : 125 Question Id : 71087014320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Author Model/Source of Influence
A. Baudelaire . Byran

B. Balzac Il. Dostoevsky

C. Pushkin ll. Scott

D. Pamuk V. Poe

Choose the correct answer from the options given below:

TA-ILB-1,C-11,D-1V
2A-IVB-ILLC-1, D-1I
SA-IVB-ILC-I, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056777. 1
71087056778. 2
71087056779. 3
71087056780. 4

Question Number : 125 Question Id : 71087014320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| gl -1l

RIEE e / UHId & Hid
A. SIGTTR . FIaA

B. STCTSg . GIRIRAD |

C. ¥ Il ¥hie

D. UH® A

e fgu e fadedl o © Oel IR AU

TA-ILBE-1L,C-1I, D-IV
2A-IVB-ILLC-1, D-1I
SA-IVB-ILC-I, D-1I
4 A-NLB-IV,C-1, D-1I
Options :

71087056777. 1
71087056778. 2
71087056779. 3
71087056780. 4

Question Number : 126 Question Id : 71087014321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following books in a chronological order

A. H.P. Shukla ed., Tulanatmak Sahitya: Saiddhantik Paripreksh

B. Swapan Majumdar, Comparative Literature: Indian Dimensions

C. Chandra Mohan ed., Aspects of Comparative Literature: Current Approaches
D. Susan Bassnett, Comparative Literature: A Critical Introduction

Choose the correct answer from the options given below

1. A BCD
2.D,CBA
3.B.CD A

4. A CB D
Options :
71087056781. 1
71087056782. 2
71087056783. 3
71087056784. 4

Question Number : 126 Question Id : 71087014321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAfREd Te®! @I UHIRH I8 & HHER Tulll :
A. T, a1, UTG®, qoIeTd dlied ; HGiidd uiued
3. U qoHeR, Hifed feeR - 3fE0H sEas

C. dg Hied, Yuled, Teded b $uifcd [l : Hie sudd

D. U drg-e, duxfed fefed=r : 3f fbfedd SeiemH
id feu T1u fadedl ¥ ¥ U1 I H Bl T HY -

1. A BCD
2.D,CBA
3.B.CD A

4. A CB D
Options :
71087056781. 1
71087056782. 2
71087056783. 3
71087056784. 4

Question Number : 127 Question Id : 71087014322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronoclogically:

A. Rabindranath Tagore's concept of Visva Sahitya

B. Goethe's concept of Weltliteratur

C. Buddhadeva Bose's essay on "Comparative Literature in India”
D. Bernheimer Report (ACLA)

Choose the correct answer from the options given below

1. A BCD
2ADCA
3.CABD
4B A CD
Options :
71087056785.
71087056786.
71087056787.
71087056788.

AW O~

Question Number : 127 Question Id : 71087014322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafiad & erarsa § sgafeyd o1 :

A. TETATY SR @1 faaaried o1 sraeron

B. 71 @1 deefeieieyy I SaeRuN

C. "HRd H qoHTd® difed” R gEad a9 &l Hay
D. FeedR Rulc @ @i ta )

i feu 1 famedl 7 9 wel 3w g+

1. A BCD
2ADCA
3.CABD
4B A CD
Options :
71087056785.
71087056786.
71087056787.
71087056788.

AW O~

Question Number : 128 Question Id : 71087014323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the following concepts:
A. Dissemination

B. Language-game

C. Commodity fetishism

D. Four humours

Choose the correct answer from the options given below

1.D,B,C A
2.D,CBA
3ACDB

4. B,D,C A
Options :
71087056789. 1
71087056790. 2
71087056791. 3
71087056792. 4

Question Number : 128 Question Id : 71087014323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFaftRad saerRums o1 ¥l HH H 9 -
A, FesfE=RA

B. Tt - TH

C. PHITSE] Hiceed

D. R ggHY
= & 0 fawent # 9 wel S g -

1.D,B,C A
2.D,CBA
3ACDB

4. B,D,C A
Options :
71087056789. 1
71087056790. 2
71087056791. 3
71087056792. 4

Question Number : 129 Question Id : 71087014324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the composition of these masterworks:
A. The Divine Comedy

B. Don Quixote

C. The Tale of Geniji

D. The Decameron

Choose the correct answer from the options given below

1.C,ADB
2ACBD
3.CABD
4D, A CB
Options :
71087056793. 1
71087056794. 2
71087056795. 3
71087056796. 4

Question Number : 129 Question Id : 71087014324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad oiadl ®f 3! TWHIdIG & Fel oH H 3 -
A G fsaEd sHat

B. S fdgwe

C. &2 AW Tuil

D. & SR

i U e faeal # 9 98l SR 9 -

1.C,ADB
2ACBD
3.CABD
4D, A CB
Options :
71087056793. 1
71087056794. 2
71087056795. 3
71087056796. 4

Question Number : 130 Question Id : 71087014325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following persons who talked about world literature
A. Marx and Engels

B. Goethe

C. Brandes

D. Meltzel

Choose the correct answer from the options given below

1.B,D,C A
2B AD,C
3ACDB
4B, C A D
Options :
71087056797. 1
71087056798. 2
71087056799. 3
71087056800. 4

Question Number : 130 Question Id : 71087014325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



faygried & 9R # =4l ®- drd FafcRad fdadl @f DreHa H said &1 ;
A T U3 3™

B.71¢

C.@isy

D. HeTuidl

i f&u ¢ famedl # 9 Wl I g :

1.B,D,C A
2B AD,C
3ACDB
4B, C A D
Options :
71087056797. 1
71087056798. 2
71087056799. 3
71087056800. 4

Question Number : 131 Question Id : 71087014326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the correct chronological sequence

A. Dryden’s comments on metaphrase, paraphrase and imitation

B. Cicero’s views on translation

C. Friedrich Schleiermacher’s piece 'On The Different Methods of Translating’
D. Susan Bassnett's book on Translation Studies

Choose the correct answer from the options given below

1. A BCD
2ACDB
3.BACD
4.D,B A, C
Options :
71087056801.
71087056802.
71087056803.
71087056804.

AW O~

Question Number : 131 Question Id : 71087014326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafciiad o 98l pH H 39 -
A. TETATG, HIAHAIG 3R B0 R gESH & [GaR
B. HdIg R ARl & fadr
C. 3dIg @ faftra faftal )R e RaigHRR @1 dd

D. 3HdIG HHT IR GUH drEe &l Td
=1 fGu e faseal § ¥ T8l %9 &1 997 &

1.ABCD
2ACDB
3.BACD
4.D,B A C

Options :

71087056801.
71087056802.
71087056803.
71087056804.

AW ND —

Question Number : 132 Question Id : 71087014327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following represent the correct sequence of elements in Navadha Bhakti?

1. Shravana, Kirtana, Smarana, Padasevana, Archana, Vandana, Dasya, Sakhya, Atmanivedan

2. Shravana, Kirtana, Vatsalya, Padasevana, Archana, Vandana, Dasya, Sakhya, Atmanivedan

3. Shravana, Kirtana, Balkhilya, Padasevana, Archana, Vandana, Dasya, Sakhya, Vatsalya,
Atmanivedana

4. Shravana, Smarana, Kirtana, Padasevana, Archana, Vandana, Vatsalya, Atmanivedan, Dasya

Options :

71087056805. 1

71087056806. 2

71087056807. 3

71087056808. 4

Question Number : 132 Question Id : 71087014327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fafeiad 3 9 9ay1 Hidd & dal &l 9g1 H S 91 82

1. 4@, BicH, SR, UIGUaH, 31, 961, GG, T3, e

2. YdUT, PicH, leeied, UTaHaH, 3=, 961, GG, 9%, THMde

3. YqU], Bla-, STARa, UIGHaH, 3=, 961, SRy, 9%, e, Afde
4, Y@U], TUT, B, UIGHaH, 31, 951, I, AMdGH, TRY

Options :

71087056805. 1

71087056806. 2

71087056807. 3

71087056808, 4

Question Number : 133 Question Id : 71087014328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following periods of Hindi literature chronologically as propogated by
Ramachandra Shukla

A. Bhaktikaal

B. Ritikaal

C. Veergatha Kaal

D. Adhunikkaal

Choose the correct answer from the options given below

1.B,ACD

2 A B CD
3.CABD

4. A CB D
Options :
71087056809. 1
71087056810. 2
71087056811. 3
71087056812. 4

Question Number : 133 Question Id : 71087014328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S Yo & HIER (361 Hiied & FHaftiad @il @ eriHH H ogaieyd o ;
A. HigddTe
B. e

C. dIRAMYTHIS

D. P
i feu 7Y fasmedl # 9 981 IR T

1.B,ACD

2 A B CD
3.CABD

4. A CB D
Options :
71087056809. 1
71087056810. 2
71087056811. 3
71087056812. 4

Question Number : 134 Question Id : 71087014329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following saint poets from Kashmir chronologically
A. Rupa Bhawani

B. Arinimal

C. Habba Khatun

D. Lalded

Choose the correct answer from the options given below

1.B,A D, C
2D,CAB
3.D,B A C

4. A, C DB
Options :
71087056813. 1
71087056814. 2
71087056815. 3
71087056816. 4

Question Number : 134 Question Id : 71087014329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



DR & 37 Gd DIl DI BIcishH b HTUR HaUd Y -
A. TY YdHt
8. Rufiaa

C. S WigH
D. TCTEIG
d feu T1u fadedl ¥ 981 IR 9T

1.B,A D, C
2D,CAB
3.D,B A C

4. A, C DB
Options :
71087056813. 1
71087056814. 2
71087056815. 3
71087056816. 4

Question Number : 135 Question Id : 71087014330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically by year of publication

A. Tintin and Alph-Art

B. Tintin in The Congo

C. Tintin in The Land of Soviets

D. Red Rockham's Treasure

Choose the correct answer from the options given below

1.C,B,D A
2ACBD
3.B.D, A C
4.C,D A B
Options :
71087056817. 1
71087056818. 2
71087056819. 3
71087056820. 4

Question Number : 135 Question Id : 71087014330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YDHIRH & BIcshd & HIIR Adyd o -
A. fedfed s e oié

p. fEafea sA s Bl

c. [cafea 54 2 o 3w ¢ Hifdgs

D. 38 TWIHH TR

i f&u ¢ famedl # 9 Wl I g :

1.C,B,D A
2ACBD
3.B.D, A C
4.C,D A B
Options :
71087056817. 1
71087056818. 2
71087056819. 3
71087056820. 4

Question Number : 136 Question Id : 71087014331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : There is no literature without language.
Reason R : Historically, no language tends to remain static.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087056821. 1

71087056822. 2

71087056823. 3

71087056824. 4

Question Number : 136 Question Id : 71087014331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g
STDHY (A) : HTHT & o1 DI Aifed 1ol o

dd (R) : UagT® SIawH | [l Hel &1 ¥4 R 781 W|ar gl
Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) AR (R) THI LT § 91R (R), (A) T &1 BN EN

2. (A) 3R (R) G HE1 & T (R), (A) BT §E1 ARG ] & |

3. (A) WE1 & U (R) W1 81 |

4. (A) HEl 181 8 IXd (R) Wel o

Options :

71087056821. 1

71087056822. 2

71087056823. 3
71087056824. 4

Question Number : 137 Question Id : 71087014332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements,
Statement |: Periods are primary forms of literary critical thought.

Statement II: The best way of addressing the problem of the history of the literary-historical
practice is in treating periods as simplifying notions.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087056825. 1

71087056826. 2

71087056827. 3

71087056828. 4

Question Number : 137 Question Id : 71087014332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERA IR e
HYF - | : PICE AR - A GTHD [GaRl & WufHe EUd g

Y - || : Fiiefd® - Ufieiie asR & Sy o a1 ®f 9d &7 Gad =31 didl ¢ (b
HIarY & FrURvied YR & w4 H faar fear s

SWdd &1 & el H Hafiad fdd el 5 9 98 S g -

1. TYF | 3R 1| GHf T8l 8

2. @Y | 3R 11 G ITad B

3 P I TE e, g P 1 S TR 7 |
I I N I T O R TR
Options :

71087056825. 1

71087056826. 2

71087056827. 3

71087056828. 4

Question Number : 138 Question Id : 71087014333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R
Assertion A : Translating is not only a linguistic act, it is also a cultural one.

Reason R : Translating always involves both language and culture simply because the two
cannot really be separated

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087056829. 1

71087056830. 2

71087056831. 3

71087056832. 4

Question Number : 138 Question Id : 71087014333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g
HYDHYA (A) : 3HdIG BT had U HIWTs DA el &, dich Hikhidd dA i g

dd (R) : A6 H HIWT 3R UPBid GH Yad Gied sidl & adiid 34 GiHI @ dad H Th-ga
T 3T el [ g 5 9@l 6 |

SUad &Yl o SfTaie § FHgifed fadedl H O T8l SR 4 -

1. (A) 3T (R) GHFT Tl & 31X (R), (A) BT el ARAT &

2. (A) 3R (R) GIFT W&l & U (R), (A) BT Wel o el &

3. (A) U8l § IRq (R) ¥l el &

4. (A) HE1 981 8 W] (R) 9B1 B

Options :

71087056829. 1

71087056830. 2

71087056831. 3
71087056832. 4

Question Number : 139 Question Id : 71087014334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements,

Statement I: Translation must involve understanding the original text.

Statement lI: Translation involves the motivated making of a new text.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct



Options :

71087056833. 1
71087056834. 2
71087056835. 3
71087056836. 4

Question Number : 139 Question Id : 71087014334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056833. 1

71087056834. 2

71087056835. 3
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Question Number : 140 Question Id : 71087014335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements,
Statement I: No text, in the light of intertextuality, stands alone.

Statement II: All texts have their existence and meaning in relation to a finite field of prior
texts and prior significations.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087056837. 1

71087056838. 2

71087056839. 3

71087056840. 4

Question Number : 140 Question Id : 71087014335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056837. 1

71087056838. 2

71087056839. 3
71087056840. 4

Sub-Section Number : 2
Sub-Section Id : 710870491
Question Shuffling Allowed : Yes

Question Id : 71087014336 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 143)

Question Label : Comprehension



Read the given passage and answer the questions that follow on the
basis information/argument incorporated in the passage

The significance of language for the evolution of culture lies in this, that in language mankind
set up beside the world a separate world, a place it took to be so firmly set that, standing upon
it, it could lift the rest of the world off its hinges and make itself master of it. To the extent that
man has for long ages believed in the concepts and names of things as in aeternae veritates he
has appropriated to himself that pride by which he raised himself above the animal: he really
thought that in language he possessed knowledge of the world. The sculptor of language was
not so modest as to believe that he was only giving things designations, he conceived rather
that with words he was expressing supreme knowledge of things [...] A great deal later - only
now - it dawns on men that in their belief in language they have propagated a tremendous
error.

Sub questions

Question Number : 141 Question Id : 71087014337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The passage suggests that the power of language use produced in man:

1. Delusion

2. Knowledge
3. Intuition

4. Insight
Options :
71087056841. 1
71087056842. 2
71087056843. 3
71087056844. 4



Question Number : 142 Question Id : 71087014338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The expression 'the sculptor of language’, refers to:

1. God

2. World

3. Man

4. Logic
Options :
71087056845. 1
71087056846. 2
71087056847. 3
71087056848. 4

Question Number : 143 Question Id : 71087014339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which two of the following are suggested by the passage?

A. Reliable knowledge evolved through the use of language

B. Confidence in language use led to human pride

C. Human belief in language is misplaced

D. Man doubts the capacity of language to describe the world
Choose the most appropriate answer from the options given below

1. A and D only
2. B and C only
3. A and Conly
4. Cand D only



Options :

71087056849. 1
71087056850. 2
71087056851. 3
71087056852. 4

Question Id : 71087014336 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 143)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087014337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087056841. 1
71087056842. 2
71087056843. 3
71087056844. 4

Question Number : 142 Question Id : 71087014338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087056845. 1
71087056846. 2
71087056847. 3
71087056848. 4

Question Number : 143 Question Id : 71087014339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087056849. 1
71087056850. 2
71087056851 3
71087056852. 4

Sub-Section Number : 3
Sub-Section Id : 710870492
Question Shuffling Allowed : Yes

Question Id : 71087014340 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (144 to 146)
Question Label : Comprehension



Read the given passage and answer the questions that follow on the basis of
information/argument incorporated in the passage:

There can be no possible exercise of power without a certain economy of discourses of truth
which operates through and on the basis of this association. We are subjected to the
production of truth through power and we cannot exercise power except through the
production of truth. This is the case for every society, but | believe that in ours the relationship
between power, right and truth is organised in a highly specific fashion. ...l would say that we
are forced to produce the truth of power that our society demands, of which it has need,
in order to function: we must speak the truth; we are constrained or condemned to confess to
or discover the truth. Power never ceases its interrogation, its inquisition, its registration of
truth; it institutionalizes, professionalizes and rewards its pursuit. In the last analysis, we must
produce truth as we must produce wealth.

Sub questions

Question Number : 144 Question Id : 71087014341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, the relationship of power and truth is that

1. One supplements the other
2. One opposes the other

3. One displaces the other

4. One reverses the other
Options :

71087056853. 1

71087056854. 2

71087056855. 3

71087056856. 4



Question Number : 145 Question Id : 71087014342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the overall context of the passage, which of the following words best captures the sense of
the statement, "we are forced to produce the truth of power that our society demands”?

1. Betrayal

2. Resistance
3. Validation
4, Connivance
Options :
71087056857. 1
71087056858. 2
71087056859. 3
71087056860. 4

Question Number : 146 Question Id : 71087014343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The passage contends that

A. Both power and wealth dehumanises society

B. Truth is produced in a random fashion

C. Power is invariably associated with the production of truth

D. We are made to produce a truth suited to power

Choose the most appropriate answer from the options given below

1. A and D only
2. B and C only
3. A and C only
4. Cand D only
Options :
71087056861. 1
71087056862. 2
71087056863. 3
71087056864. 4

Question Id : 71087014340 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (144 to 146)
Question Label : Comprehension
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Sub questions

Question Number : 144 Question Id : 71087014341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056853. 1

71087056854. 2

71087056855. 3

71087056856. 4

Question Number : 145 Question Id : 71087014342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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71087056857. 1
71087056858. 2
71087056859. 3
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Question Number : 146 Question Id : 71087014343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087056861. 1
71087056862. 2
71087056863. 3
71087056864. 4

Sub-Section Number : 4
Sub-Section Id : 710870493
Question Shuffling Allowed : Yes

Question Id : 71087014344 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (147 to 150)

Question Label : Comprehension



Read the given passage and answer questions that follow on the basis of
information/arguments incorporated in the passage :

| cannot allow of our way of establishing the duration of life. | see that the wise shorten it very
much in comparison to the common opinion. "What," said the younger Cato to those who
would prevent him from killing himself, "am | now of an age to be reproached that | go out of
the world too scon?" And yet he was but forty-eight years old. He thought that to be mature
and really an advanced age, considering how few arrive to it; and they who, soothing their
thoughts with | know not what course, which they call natural, promise themselves some years
beyond it, could they be privileged from the fatal accidents to which everyone is by nature
exposed, might have some reason so to do. What an idle conceit it is to expect to die of a
mere decay of strength attending extreme old age, and to propose to ourselves no shorter
lease of life than that, considering it as a kind of death of all others the most rare and
uncommeon. We call this only a natural death, as if it were contrary to nature to see a man
break his neck with a fall, be drowned in a shipwreck at sea, or snatched away with pleurisy, or
the plague, and as if our ordinary condition of life did not expose us to all these
inconveniences.

Sub questions

Question Number : 147 Question Id : 71087014345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, the common opinion holds that

1. Life should be shorter

2. Life should be longer

3. Life should be rewarding
4. Life should be fruitful
Options :



71087056865. 1
71087056866. 2
71087056867. 3
71087056868. 4

Question Number : 148 Question Id : 71087014346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the implication of the younger Cato's retort?

1. He is nowhere near the end of his life

2. He is better off compared to many of his age

3. He is of an age when he can choose to relinquish his life
4. He is at an age when man is disillusioned with life
Options :

71087056869. 1

71087056870. 2

71087056871. 3

71087056872. 4

Question Number : 149 Question Id : 71087014347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
It is suggested that

1. Accidental deaths are as common as natural deaths
2. No one wants to live beyond a certain age

3. Life of great men end prematurely

4, We must revisit our notion of natural death
Options :

71087056873. 1

71087056874. 2

71087056875. 3



71087056876. 4

Question Number : 150 Question Id : 71087014348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The passage

1. Questions the notion of dying in an extreme old age
2. Suggests the uncommonness of dying at a young age
3. Questions the will to end life before an advanced age
4. Suggests rethinking on the question of dying as an art
Options :

71087056877. 1

71087056878. 2

71087056879. 3

71087056880. 4

Question Id : 71087014344 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (147 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 147 Question Id : 71087014345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 148 Question Id : 71087014346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 71087014347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 71087014348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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